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ERE = 1 63, 004, 677
HEELT = 1 29, 944, 992
BEARRE AT = 1 246,384 | BRA (L) B+ 40 m3
2. 5mAT ;
b 40 m3
0 Cabl- EHIRY £5Te) ;
FHIA Ob-27) 40 m3
+Hw 550, 000m3 AT ;
AR T (ICT) =X 1 20, 333,900 | H&{A (FL42) 7% £ (ICT) 13, 000 m3
b 9, 500 m3
0 Cabl- EHIRY £5Te) ;
b 4,910 m3
0 CaBl- EHIRY £5Te) ;
A (-2") 14, 400 m3
+Hw 550, 000m3 AT ;
PSR+ T (ICT) = 1 7,141, 434 | B L (TICT) 2,200 m3
AR 1 (ICT) 730 m3
(15 BRI EA D)
b E 2,450 m3
0 Cadl- EHIRY £5Te) ;
FHIA Ob-27) 2, 400 m3
+Hw 550, 000m3 AT ;
R Zp s 730 m3
B (EO 1)
BT T (ICT) = 1 684, 604 | IEMEFETE (B 1356) (ICT) 1, 240 m2
ELiHkEE O L ;
[ Bt 3R T 2 1 1,538,670 |BhELY-} 862 m2
t=2. OmmPA I ;
AR B T = 1 4,998, 000
+THE%BET = 1 4,998,000 | HE R 3, 000 m3

%%E}‘X 30kg/m3 ;
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-7 my)FE (3R T = 5,493, 244
EELT = 293,844 |FKIEY 1 X
+4)
HEL 1 2V
+4)
FLE e 1 =
VR VARPY RN EVZA R VAR Y E <) = 5,199, 400 |BLGFTHAE ) -} 47 m
2%5)
18-8-40 (B J7) JEEHE 52cm B S 30cm ;
BT HeAfavy)-h 30 m
(L)
18-8-40 (B 47) JEEHE 55cm B S 35¢m ;
BFT/h A akay ) -} 0.5 m3
2%5)
18-8-40 (B JF) ;
/) =h (R%0) 77 ny ) il 70 m2
2%)
/) =h (R%0) 77 ny ) il 71 m2
(L)
A - BEAKS (W) 44 m3
FARAG RC-40 ;
Bl HT Ruiav - 3 m3
2%)
18-8-25 (B ) ;
Bl HT Ruiav - 2 m3
(L)
18-8-25 ()
AN =h L 2 7,365, 472
EELT = 244,795 |FRIEY 1 =X
+4)
HEL 1 X
+4) ;
-2 - E A2 s SN 7
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HRET 2 1 5,165, 346 |2v/)—} 63 m3

24-12-25(20) (&¥F) ;

i53i0) 2.59 t
SD345 D16~25 ;

i53i0) 1.86 t
SD345 D13 ;

i53i0) 0.02 t
)
SD345 D13 ;

T 1 =X
— R

BTN 129 &
DI3H ;

SRy VA 84 N
M12 X 50 ;

AR 1 X
B KSR 7 100kN/m2LL T 277 )= ME250emitd
Z

s 1 =X
TEFRy BB

BEhR = A X 1 1,955,331 |2/7)-} 18 m3

24-12-25(20) (&JF) ;

i53i0) 0.24 t
T
SD345 D16~25 ;

8w 0.58 t
SD345 D13 ;

T 1 =X
— A

715 68 i
SD345 D22 X600 HDZT77 ;

BTN 225 &
DI3H ;

AR 1 =X
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£<40kN/m2[t<120cm] ;
HEKHEEY T = 5, 545, 799
e+ T 2 156, 773 | KR 1 X
+4)
HEL 1 2V
+4)
AT = 1,223,000 |7 VEyA MBI 13 m
300X 300 ;
H 2B RS 49 m
(55)
300 X 400~600 ;
NS 39 e
300 (@A) B BB 2v7)-b (L=500)
NS 10 e
300 (KA B BB 2v7)-b (L=500)
AR v T 2 370,665 | BLGHHT HHEKME 1 (£
B HTHA 18-8-25 (Fi4F) 500X 500X 500 ;
BGHT K 1 (£
BUGFTRF 18-8-25 (f&i47) 500X 500X 600 ;
BGHT K 1 (£
BUGFTRF 18-8-25 (f&i47) 500X 500X 700 ;
/NEERD 1 (B
BT 18-8-25(20) (Fi4F) 500X 500X 800 ;
/NEER 1 (B
Bl HTHF 18-8-25(20) (%) 500X 500X 800 ;
= 2 e
J7V=Fv)T E 500 X 5008 T-14 K VEE ;
= 3 e

TSRS 500 X 5004k H (HDZTT7) K VhEE ;
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HEAKT = 1 3,795,361 |/NEedlEak 88 m
300X 300 ;
HEPEAK 2 m
A
300X 300 (Vry MT) 5
HEPEAK 2 m
B
300X 200 ;
CEUEVZAR 159 m2
CINBEHEA)
t=bcm 18-8-25 (20) (@A)
CEUEVZAR 80 m2
t=10cm 18-8-25 (20) (@& /F)
= 4 r5e
A
FEEMARZE 400 X 600 (HDZT77) & MMEE ;
= 4 r5e
B
FEAREE 600X 600 (HDZT77) K VhE E ;
ARAHEKE 103 m
HOpiffe S-20 ;
A HKE 47 m
HORife S-20 ;
SN 47 m
An=7" R, E &50em X IF120cm EIZEA 150-200 ;
EEEMRER & L 2 1 4,484, 747
FEHMIR R S T 2 1 4,484,747 | BEEMRGR E 44 m3
24-12-25(20) (&m¥%F) SD345 D29~D13 ;
Bh AT L 2 1 1, 816, 377
B LA T 2 1 1,161,977 |FeifE7 ny), SR Ko 47 &
FME LR ¢ 101. 6 X 3. 2X600mn ;
A - S i 7 AR IEA 95 m
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TEHX4y « Tfd - FER B Az ¥ = & #A #m il N BN
2mPL T 2m ;
UIE 1SN Ev 1 654,400 |7 VA bBAEA HEAE 16 m
H=500 ;
SN AL T =Y 1 974, 000
IEALBREE T Y 1 974,000 |JLAfEZE 1 =
HEYE T Y 1 23, 856
s EEE L T Y 1 16,162 |2v7)-MEBEMHUE L 2 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 1 7,694 | EER 2 m3
/)Y - hik (AT
RISy 2 m3
/) - bk BEA%)
A Y 1 2, 358, 190
VE#IE 1k T Y 1 2,228, 050 | ¥ /K ALER 35 4 1 =
FYEALPR B 10m3 /Wi ;
AEEHE T Y 1 130, 140 | AZ1@FHEZAE S 1 =
[ERAE Xy = 1 63, 004, 677
HiE 2 1 8, 574, 650
BISTI S = 1 1, 953, 650
HeffrE sy 2 1 1,273,650 |{R5FEHL(ICT) 1 =
YATLIE 2 (ICT) 1 F2V
B R AT -MERE 1 =
BGRESCESE (5 L) = 1 680, 000
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THEXSy - THE - FE5 H7 % & i Gl N
sty (R L) 2V 6, 621, 000
ol T X 71,579, 327
e R 2V 22, 740, 000
T AT X 94, 319, 327
— e PR 2V 16, 270, 673
N 2V 110, 590, 000
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